KB A e R EN ST T 35 B

TH4FE10A78 (£)

W Bl |EEKED| AEKEW] NIAEM| & - =

WM % E (e | 68000 7,800 26,900 102,700 EKET| A RKE T LK ET
HRe | Ba | &b
R E] . . & = % & 8 :

Igﬁa?ﬁkmg‘“ E & | + B | & & £ &5 E
(EHKED)
{2ECH 781 Tke 3.780 = 3.618 = 3.45% -] E8 f
=pr 689 ke 2.320 | 520 | oF 17 TE {8
B 1| ke 1,500 1 300 1| =% =4 i
o 17776]  Tke 137 — 24 2| Bl BRB i
FDL g7 ke 200 1 20 1| 72 =2 fo
SAE 6.878] ke 702 1 504 || mE
YU 133 ke 1188 — 1080 =] % ZE
FE TR 3.394] ke 1,350 — 520 = ®E 1o
ho 1038 ke 2,400 | 920 1| 7/ BE f
PR 319 ke 800 | 500 1| Ba EE i
EREE5 200 ke 1750 — 1500 1| 2 &8 1
ERDAIEE 027  Tke 2,052 — 1728 || 2 BRE (&
FHHLM 425 1kg 702 — 594 —| =i b
(A¥-3-3 17 1kg 2,500 1 930 1| RIZE B b
<7 7.696] Tk 2,400 — 500 1| /v LBE 1t
T Y 205 Tke 2,160 | 1206 =
By 15[ Tke 1,296 1 186 | BE EE |
= 692 Tke 2,330 — 830 = =m B it
(R EKED)
AL AT D sl ke e R
AR o o[ ke 2160 = 2160 = 2,160 = =7 1o
AR 1879 ke 2,480 = 2,160 = 1.296 -] ©r
(T KEW)
T 1390 ke 618 = 486 =] 324 = mE e
B 1.914]  Tke 3,100 — 350 1| 7
BIE5C 650 Tke 2,400 1 7100 J| w7 18
EEAE
TEE 200 ke 2,160 — 1200 = mE
BT C 607 Tke 950 — 20| @ BB
=Thn0 100 Tke 2,160 | 864 = BR o
B UBA 1807 ke 2,700 | 1206 1| &% x5 1
P 50l Tk 1,728 | 864 = wrn e
GE) 1. COEE. Fik 2 BRESHOLOTT.

2. MmiRlE &Ly MERE] TRE1 T5BRE1 THL) OS5KRETY,

REL. E5OX0BNEAIE TE5E5) & LTOET.

3. MEDEDEXNIL., FiIBLBHOMEELLEL-EFHETEZRLTWET, =L, BIEIZESE]

AEMot=m. IR EBEEARLDIEREEMELTVET,
4. TEA) RU FEHSEME (GE. PE. RE) 1 & TERSIOFZE (Y (AL EEl. 83
5l B=FHRE] ITOHT, IRBEORLEVHLDERTLTVET,




